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EI : Sketch the surfaceP④
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What are some points that satisfy

z =3 ?
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Distance between two pg①
two points ( Xi ,

bit and lxe.cz ,
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In 3d ,
the distance between

( Xi , y , ,z ,
) and C Xs ,

uh ,
Zz ) is
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p③
The equation of a sphere

of radius r with center

( a ,b ,
c ) will now

be derived .
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The formula for this sphere is

Cx-a5tCy-bItCz-cP=rT/



Sphere of radius 9 P④
with center f- I

, 4,7 )

is given by
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Vectors pg①

The term vector is used to indicate

a quantity f such as displacement , velocity
,

or force ) that has both magnitude and

Vectors canIF
geometrically by arrows .

The direction of

the arrow specifies the direction of

the vector and the length of the

arrow
describes its magnitude ,

•termini.

The tail ( or starting

point ) of the vector is

%M called the imtialpit
• of the rector ,

the tip ( or

initial ending point ) of the vector

is called the terminal point
point -

.

tumors
efrat ( or equivalent ) if they have

the same
length and direction ,

So it

doesn't matter where you
draw the

Vectors , ie you
can

more them

around ,



i' and
p④

ii are

equivalent legal

-
not equivalent I equal

IT'

Tin same magnitude
& but different directions

-

The zerovector ,
denoted

by 8
,

has magnitude I length

O and no
specific

direction .

It's the only
vector

like the
.

Its
' draw

as a
dot

→

•

O



Vector pg⑦
If it and J

'
are vectors

to calculate fit J we

position
so it 's initial

point is at the terminal point

of it
,

then i' ti
'

is the

vector with initial point

taken
from in and terminal

point taken from it
. [ Note :

You can
interchange ii and I

in this procedure
and you get

the same
answer . ]

- ÷÷÷÷:* .



re flmca )

Workshop

EoTY⑧
⑦ ④ Find the first  4 nonzero

terms of the Tayler series centered

at a
,

Write the power series in

summation
notation .

Axl = sink ) ,
a = Iz
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④ p④

Find the first 4 nonzero terms

in the Tayler series centered

at a
-

- o [ Maclaurin series

for In ( It XY .

I
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Ffa =£o2HPx
" " p④

£Y
When we integrate we will still

get the same radius of convergence

but the endpoints might converge .

-
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